[image: image1.png]6.6-6 Let Xy, Xo, ..., X, be a random sample of size n from an exponential distribution
with unknown mean of u = 6.
(a) Show that the distribution of W = (2/0) >1_, X; is x2(2n).
Hint: Find the moment-generating function of W.




[image: image2.png](b) Use W to construct a 100(1 — «)% confidence interval for 0.

(¢) Ifn =7andX = 93.6, give the endpoints for a 90% confidence interval for the
mean ¢.




(The material is from Confidence Intervals For Variances. Please show each step of your solution. Thank you.)

